1. Bx-4)’4a=924+bx+10 LW, a+b 9 %2? (Fa b=
garoltt.)

@ -36 @—30 ® -2 @ -18 ® -12
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(3x)2-2x3xx4+4*+a

=9x2-24x+16+a

16 +a=10

a=-6, b=-24

~a+b=-30




2. Bx+4)P?=a’+bxy+oy* W, AT a,b,cFat+b+c
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D 11 @ 19 ® 25 @ 31 @49

(3x)%2+2x3xx4y+ (4y)? = 9x% +24xy+16y* °| B2 a+b+c =
9+ 24+ 16 =49 o[t}




3. (2x-5)l +4a=42+bx+21 LW, a+b 9 F? (Fa b=
Aol

@-2 ©-1 03 @ 8 ® 19

B ~
(2x)2 —=2x2x x5+ 5% +a=4x? —20x + 25+ a C|B=
25+a=21
a=-4, b=-20
La+b=-24




4. (3x+2a)> =92 +bx+16 & W, ab & F27? (F, a, b =)

@ 16 @ 22 ® 36 @ 42 ()48

B

(3x + 2a)? = 9x% + 12ax + (2a)? °|B&2
9x% 4 12ax + 4a®> = 9x% + bx + 16
12a=0b, a®> =4

ooab =124 =48
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6. (2x+b)P=ax*+4x+1 2, FFa b Fa+b o P2?

® 1 @ 2 ® 3 @1 @)

(2x 4+ b)? = 4x? + 4bx + b? = ax®> + 4x + 1
a=4,b=1
La+b=4+1=5




@ x2-4x-4 @ x2-2x-2 @ x2-2x+14
(@’x2—4x—|—4 ® x2+4x+4

X4+ 2xxx(=2)+ (-2)2 =x* —4dx + 4




©)
6a> L
i




9. o[ ol ok 22 AR A Yol
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(x-D(x+ D +1) = (2 -1)(2+1) = (¥ - 1)




10, (x-2)(x+2)(x* +4) = AA3HA?

O x*-4 @ x2-16 @ xt-4
@ x*-38 (@)x4—16

(2 -4)(x2+4)=x*-16
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X @ x2-1 (@)4
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® x*+1

(-2 +1)=xt-1
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(= D+ 1)+ 1) (e +1) & 8] 5hat?

D x2-1 @ xt-1 @xs—l

@ x'%-1 ® 2 _1

(2 =D+ +1) = (@ -t +1)
=31
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499l Bl g AR ARE Ad I fo—g
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@ (a®-3a+2)m? (@D(a2 + 3a + 2)m?
® (a®> +2a+1)m? @ (a® - 4a+ 4)m?

® (a® + 6a + 9)m?

Soldt o] 7t29] o] (a+1)m, AlR2] o] (a+2)m
wratA] sheko] Yol (a4 1)(a+ 2) = a® + 3a + 2 ©|th.




14. tha I ARt 72 HolE x, y

e A0 vhE A ek 20

@ (2x+2y)(3x+y) = 6x* + 8xy + 2)?
@ (2x-2y)(3x +y) = 6x2 — 4xy — 2y?
@(2x +2y)(3x —y) = 6x2 + 4xy — 2y?
@ (3x+2y)(2x—y) = 6x2 + xy — 2y?

® (3x—2y)(2x +y) = 6x2 — xy — 2y?

_--2r-~__ 2y

~&B

At B50] 7129 dol= (2x + 2y),
M2 dol= (3x—y) °lth
upepA ARt FE o] Hol=

(2x + 2y)(3x — y) = 62 + 4xy — 2)?




15. (Bx+2y)(2x—y) - (x—2y)(4x + 3y) & A/ Aoz &2 A2?

rlo

D 2x? + 18xy — 4y? @ 2x2 + 6xy — 4y?
@ 2x2 + 12xy + 4y? @ 10x2% — 4xy — 4y?
(@)2x2 + 6xy + 4y?

~&B ~

(3x +2y)(2x —y) = 6x% + xy — 2y?

(x = 2y)(4x + 3y) = 4x2 — 5xy — 6y? ©|T}.

whabA] 2017 AL 6x2 + xy — 2y? — (4x? — Bxy — 6y?) = 2x2% +
6xy + 4y? o]t}




16. (x+3)(3x—4) =3x>+Ax+BY W, A- B2 & F51H?

O 12 @ 14 ® 15 @ 16 @17

(x+3)(3x—4) = 3x? + 5x — 12
A=5, B=-12
S A-B=5-(-12) =17




17. 2x+1)(5x+A) =10x> + Bx-2 & @, A + B o] 27

@ -10 @ -5 @—1 @ 1 ® 5

(2x + 1)(5x + A) = 10x> + Bx — 294 Ax 1 = -2, TetA
A=-2,B=2A+5=10°]t},
L A+B=-1




18. (-3x+4)(5x—6) = ax*+bx+c L, & a, b, c o H5td a+b-c
o gre Faelal

>
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~&B

(=3x+4)(5x — 6)

={(-3) x5} x% + {(-3x—=6) + (4 x5)} x+4 x (-6)

= —15x2 4+ 38x — 24

=ax®>+bx+c

W2t g = -15, b=138, c = —24 ©|B2 g+ b — ¢ = 47 °|t}.




19. 2x+a)(bx-3) =8> +cx-94 W, ¥+ a, b, c T a+b+c
o) g

D 11 @ 12 @13 @ 14 ® 15

~&B ~

2bx* + (ab — 6)x —3a = 8x* + cx— 9
—3a=-9=>a=3

2b=8=b=4

c=ab-6=c=6
“a+b+c=13




20. 2(4x+ay) (bx+y) = 24x® + cxy - 6y & W, A= a, b, ¢ oA
a+b-c 9 g2?

@7 @ 8 @9 @ on

~&B ~

2 (4x + ay) (bx +y) = 8bx* + (8 + 2ab)xy + 2ay?
8bx? + (8 + 2ab)xy + 2ay? = 24x? + cxy — 6y?
a=-3, b=3, c=-10

“a+b-c=10
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® 11x2-12x-4

MAG FE0| 7h2 o] holk 7x-2, MR Pol 4x-2 olek.
HAG 78] Hol

(Tx—2)(4x—2) = 28x2 — 22x + 4
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(x+A)2 = x2 +2Ax + A% = x2 +Bx+1—6
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(2x+a)? =4 +bx+9 D™, ab O 27 (F,a, b

® 12 @ 24 ® 30

@36

B

(2x + a)? = 4x? + dax + a®
4x% +dax +a®> =4x> + bx +9
sda=b, a®>=9

. ab = 4a®> = 36




